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T IS AT e 0 R geR fAeifRa g &2
The least count of screw gauge can be determined by
O / @i dae W e @ el HEar

Pitch / total number of division on circular scale
EREGENGICIBAEE]

Spindle movement / pitch
=/ &5 5 A 771 O

Pitch / the least count of screw gauge

T G R B g wear X R

Total number of divisions on circular scale X pitch

fIERIT a1 AGFIERIT 7 AR & 39T F FIT AT ST 2
Micrometres are used in telescopes or microscopes to measure the
. 3epelr fEF &r a7 The weight of the celestial bodies

. SEATS # FOT  Particles in the universe
. 3R TSt ar gew a3 wr memd sy

Apparent diameter of celestial bodies or microscopic object
. 3R ST T 9eWoT FAT  Pollution level of celestial bodies

afei T SR & Far AT Srar 87

Vernier calliper is used to measure

. Tdel JRR T A AT U & ofie fr A

Diameter of a thin wire or the thickness of a sheet of metal
. f¥ awq @1 a5/ The weight of an object

. TRET aFq & @HAT &% The total area of an object
. fodlY a¥g T 3T The volume of an object

et 3 & R oo carT e @ RUT Tehest & forw SUaT R AT 39
Which one of the following tools is used for holding a work piéce stationary
a9 asH Bench vice

gAY Hammer

T TEFAIY Try square

o Calliper

M Bl frad =i g1l &2 Cold chisel is a tool made up of
g% & gl 7 33 AT e Steel cooled in ice water
e Carbon

g T Mild steel

¢FIS T Tempered steel
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10.

11.

Y B B el & o CNC 7l v ufkar die T3foler giclr &1CNCaRl= &1 qoT &9
F7 87

In CNC machine tools, a process called peek drilling is carried out while drilling deep holes.
What is the descriptive name of CNC machine?

Computed number control machine

Calculated numerical control machine

Computer numerical control machine

Computer network control machine

ST Y FANT # A g7 FE T gl Bl GHR H Sl 3qgFd Wwal?

Oil grooves are to be cut in brass half bearing. Which one of the following chisel is suitable?

. Tole el Flat chisel
. S D=l Cross chisel

3reT e A B Half round nose chisel
a9 &l Web chisel

AY T FE §&IT ¥ 39 §? The morse tapers are available in number from
Oto7 b.0to 8 c.l1to7 d.1to8

w07 fAes a6 & afcha #ds # FUR & fAv vk gReghd He ar o g, Saw
A finish cut is given for improving surface finish of a rough milled work piece to
FIea fa, BE & U9 Fe § TS S g AT gl

Decrease cutting speed, feed rate and depth of cut

e AT $T FAT ST & JUT B8 2T U e I IEUS H G AT B

Increase cutting speed, reduce feed rate and depth of cut

§g T Ud e HI TGS H GGAT ATl § JAT I IATaien! gerdm A gl

Increased feed rate, depth of cut and reduce cutting speed

FleaT I, B5 X U Fe H TEUS F GG ATl

Increase feed rate, depth of cut and cutting speed

Waﬁmﬂwﬂaﬁmmm%imwwwﬁwmﬁaﬁmﬁ?

A high carbon steel has to be forged. Which colour indicate the most suitable forging
temperature ?

drem ot Yellow red

g A ATl Dark cherry red
goar drelm Light yellow

offel Red

e fi & v e I HHR H I A A4 TRSHd AT ST 87

Which range of grain size is referred as ‘very fine’ for grinding wheel ?
80 - 100 b. 220 - 600 c.30-60 d.10-24
TB8-A-2
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13.

14.

IefAfATH solleh X FIehell IRTSSA Ao el & AT Pleell Prger 3UFad 872

Which file is most suitable for an aluminium block to get smooth finish?

. 8d¢l & Double cut b. déh &hc Curved cut

{FY &< Rasp cut d. UTehel ohC Single cut

AT AW W HE FA &F AN, e ¢l T F & A9 Th 9gd g0 F FA0 [l
Bl

Why it is necessary to maintain an approach distance between the cutting tool and the work,
while working on the shaping machine?

T fae & @ed U &I 33T #e & foU To cool down the cutting edge of the tool bit.
FHArE & 37T 7 R R & 919 F AT To avoid any ridge at the end of work piece.
FoIUX &l Sl aT9H FET W el H TIH 6 & T

To enable the clapper box to return to cutting.

e & PR U FIe UST & A H & fow

To allow the chips to fall and clear the cutting edge.

AT AT T T 9T Fgl ASC fomar SArar 87

The tool post of a planning machine is mounted on?

a. T Apron b. @& Y&l Cross rail
c. Tl ded Clapper box d. ¥ Saddle

. ®ie urd & fov e 3 1 RfFTd #d §2 How do you identify a drill for soft metal?

oi¢ gfelerd H1oT @@ By the small helix angle

g3 gfele g 10T g By the large helix angle

Bl BN ST @RI By the chisel edge angle

ar 3l arer 9fge HI0T @R By the point angle which is go deg

g AT Aeg-amelar @aH fFa @Ar d du giar €7 Hook's law of elasticity is valid within

cerieesd AT Plastic limit

AT @Ar Proportional limit
geargdtAT Elastic limit
SoRcIcaTeesd dAT Elastoplastic limit

I AT H FI7 gar €2 Gun metal is composed off

arar, fest @ Faree Copper, tin and cobalt
dar, SEaT @ T Copper zine and lead
arar, f&sT @ SIEaT Copper, tin and zinc
feet, SFar @ @1 Tin zinc and lead

TB8-A-3
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19

d.

20.

21.

22

23.

T o

o

et eI T & " 3 mm &1 et qut goie & arg wF S 3 amEr e gen?

Pitch of the three starts screw is 3mm. What will be the axial travel of the screw after
completing three rotations

3mm b. 6mm c. 9mm d. 0mm

HEGH gl ursudaed Hf Rfgaa s & v Fa @r & &1 393l Far aar g7
Which colour band is used for plumbing pipe having medium weight ?
el Blue b. dreT Yellow c. ol Red d. el Black

Gl argy fthfear/ederd S JfAge, Aoaer, &3, Tedl, & 30 15:1239% TohE ST &I w90
A &7

The Gl pipe fitting /specials viz, union, nipple, bends, elbows, tees etc are conforming to
Which part of 15:1239
Part | b. Part Il c. Part il d. Part IV

STeT 3Mqfd & T 39Aer # A0 S arer Gl 9rsY & Ramg & oird o & fav fohder
qf&Tor gre I S 8?
What test pressure applied to check the leakage in Gl pipeline, used for water supply ?

5kg/ Sqem T Hf&ehaH HA FT &g T, it o ifAF &

5 kg / Sqcm or one and half times maximum working whichever is greater
7kg/chmﬂTmmaﬂ3‘G'{ﬁT, St o 3 &

7 kg / Sgcm or one and half time maximum working pressure whichever is greater
&ad 5 kg /Sqem IT 3fAFIH F g, S ofr 3w ar

Only 5 kg/ Sgcm or maximum working pressure, whichever is greater
Skg/chmmmﬁr&?ﬂa’f?ﬁaﬁ, S ofr 3foe @

Skg / Sgcm or 2 times maximum working pressure, whichever is greater

15® 50 mm &I arel ofdl drsuersd # Ao & v sgaae e dlsd & scaas @ &
HTGLTRAT Bl &7 '

What is the minimum width of excavation trench required for laying water pipélines of 15 to
50mm diameter ?

80cm b. 50cm ¢. 30cm d. 20cm

&Y ofgel @ Stel Y[ offgel & HIAT G, STl AT olgel g
At crossing of sewer line with water supply line, the water supply lines always should be

THay oS & 39 gidr & Above the sewer line

faxr @ & AT gy & Below the sewer line

HaT 3T & AT gidr & Parallel with sewer line

qaT arseT &7 g2 sga & Srdl & Change the sewer line direction
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24. ToTdear fAZE0T 7 HSTH 0.4% FRYOT 9E F 3gAfA g §1 500 U &F Ieure #
fhaa qfeqot ure & A gei?
The quality control allows at the most 0.4% defective parts, How many defective parts can be

allowed in a production of 500 parts?
a. 1 h. 2 c. 10 d. 20

25. e WA A Ul g a1 & v et F F S ot w1 wHg e 3@ 82
Which one of the following groups of properties considered for manufacture of
chain hooks from wrought iron?

a. deddl, geeddr d HoRdm Ductility, malleability and hardness

b. SBRAT, Feedl d d=acl Hardness, toughness and ductility

C. JECHAT, Toqdl G Headr Malleability, ductility and toughness

d. FIT, geodr @ S-WBT—IT Hardness, toughness and brittleness

26.1S: 4985% 3TTHR, PVC 9159 &I e Ud gl Tefe fhd TR gy =rfee?
As per IS: 4985 the internal and external surface of PVC pipe shall be
a. % T e dur gars v #AFd Smooth and clean and free from moulding defects

b. 3eI ¥&UT g §TEY ATH Rough inside and clean outside
c. UM% d TS ay Had Clean and free from moulding defects
d. 3eX g 9eY gt el @ F&UT Smooth and rough both inside and outside

27.CPVCUTSY &1 39T a1H o &3 Urer &1 3Tl ofsel & fow gar §1 CPVC s ot are FFam &7

CPVC pipe are used for hot and cold water supply lines. What is descriptive name of CPVC ?
Chloride free pipe

Chlorinated polyvinyl chloride

Chlorinated polyvinyl chlorine

o 0 T W

Chloride pipe vinyl chlorine

28. %ol & # areX dia T 7gws el 81 §2 The depth of water seal in floor trap is
a. 50mm b. 100mm c. 150mm d. 200mm

29.HDPE Y189 AT § HDPE pipe stands for

a. High Density Poly Ethane
b. High Density Poly Ethylene
c. High Ductile Pipe Ethane
d. Highly Ductile Pipe

30.EWC & OT §{del W Yar T ST arel ¢9 & A1 Scd8U|
Name the trap to be provided for EWC at Ground floor
a. S 9 Strap b. P &aP trap

TB8-A-5



C.

31.

2.

33.

34.

35.

U 29U trap d. ¥rar 29 Straight trap

FFL & arer S8TeT &l o9mey T 3a15 fohaail gidl &7 The fixing height of Wash hand basin from FFL

750 - 800mm b. 800-1000mm
400-500mm d. 1000-1100mm

dos YR @ YgdIaiv / Identify the weld type

Haoll / Reinforcement

g

gl oR% THFAIT g€ Square butt welded on both sides
Ueh % & des s T weld butt welded one side

=

U RE TFAIAY §¢ des Square butt welded on one side
gldl @ € d¢ des T butt welded on both sides

STe O S U9 TIEROT & fow g g &1 gaier degelily 7 giar 87
Which tool is used to check and transfer on the job in carpentary work

Sddl TFIAT  Bevel Square b. g TAAX  Try square
Tl & Steel rule d. e« | Tenon saw

1S:226 9fSc Fg wErawd IS 814 it godels & Alsll & T des & gfage & gAfa &1 o
qT §¢ dos & AFF & IR ded 1 gdEa gfdeer fFaar gem?
Stresses allowed in weld for joints,- mild steel conforming to 1S:226 and electrodes

conforming to IS 814 . Tension or compression stress on section through throat or butt weld

shall be

1570 kg / Sgcm b. 1025 kg / Sqcm
1420 kg / Sgcm d. 2000 kg/ Sgcm

e 7 ¥ Flaar FU«7 Tar Jar &7 Which one of the following statement is not correct
afeser sis Raes S ¥ 3T 9 o0& g gl

Welding joints are stiffer and lighter than riveted joints
afesa # RATET Fr 39aT FA J@rs =T g1 Welding caused lesser noise than riveting

fAderor & faw afeser s 3 78 @1 &1 Welding joints are not easy to inspect
afeger & faw Rafdar & svamea F7 FId Aty @91

Welding needs less skilled labour than riveting

TB8-A-6



36.1;r3ﬂ-cfraia1é12cm,q"aﬂai‘rzﬁtmaé1cmmmmmﬁmﬂﬂaqﬁaﬁmzo

kg/sqcm arel 9T des #r AfFT fFaer geh?

What will be strength of butt weld having the effective length (I) 12cm, effective throat

thickness (t) 1 cm and permissible stress in tension or compression (Pt) 1420 kg/ sqcm?
a. 17040 kg b. 18800 kg c. 1200 kg d. 120kg

37. 7T Ud 30 ITEHT A A Ud a9 & g18d & ITAT H AT 387 AT &2
A main purpose of using worm and worm wheel drives in machines and their accessories is to

a. W& el HaRT saT  Transmit large torque
b. @ e ¥ I el F 3MF A B UG FAT

Provide large speed reduction from worm shaft to worm wheel
c. 3= afd FaRa &A1 Transmit higher speeds

d. 3 T § T e F 3F AT BT YT FEAT

Provide large speed reduction from worm wheel to worm shaft

38.%@@33@%%%%%%%%%?
Which metal is used to make the blade of the chisel ?
a. e T Carbon steel
b. #ETH Tl  Medium steel
c. 3Td @ree T High carbon steel
d. WS T Forged steel

39. % # & Hlewn gy AMT T TR Flewt, AE oo, I, TATeH,FE NS, AT H
fow warer 87

Which one of the portable machine tool is very competent for cutting wood, composition board,
veneers, plastics, card board, leather?

a. Jg=ira faegd fSerdr portable electrical jig saw

b. Tg-lrafdedd whr g&d &l portable electrical circular hand saw
c. g« #3T portable sander

d. FE=aidedd W3 portable electrical router

40. FIT8 ST & S G T 9T ThH T £2 Which gauge is having longer stem and longer stocks
a. ThIT IS Circular gauge

b. #HaARHRT AT Marking Gauge

e AT Panel gauge

L&)

d. AT AT Mortise gauge
41. T &7 FIET HIT ... & The cutting angle of the chisel is
a. 5° b. 15° ¢ 25° d. 30°

42. 75t axarat #§ &fas ggras N Fa1 Fgerar 87
The horizontal support piece used in ledge door is called?

a. o131y Ledges b. T Braces

TB8-A-7



c. d¢eT Batten d. 9T Panel
43. vRe sgel &1 FaT 39T §7 What is the use of spirit level?

a. T & el $IUT & ghsaT To hold the saw in proper angle

b, ®ehar FIeaA & HIT &I AT To check angle of wood cutting

c. I3 & FIEUT FIUT FI AT To check the cutting angle of wood

d. TFEr F TAdE T GASIAT S« & fAT To check the uniformity of the surface level of wood

44 AFEAY FE A IUWT g1 aTor eiael & sels H ATSR Tohdell BIdT & ¢
The blade size of the trowel used in masonry work varies from

9” to 12” weTS/length 4” to 7" in @isS/width

12” to 15" @eS/length 9 “to 12” in @iErd/width

3" to 9" @arS/length 1“ to 3” in @isS/width

1” to 3" s@rs/length 0.5 to 1” in @iErd/width

o 0 oW

45. 5T seid/SC B WH Hic TF H diSd & ol & A Jdgv]

Name the tool used to break the new blocks / bricks in clean cut pieces ?
AR §AT Mashing hammer

gfae Trowel

selitenaT &eil Blocking chisel

d. #ATAY 9raX AT Masonry power saw

o o

2

A6.3feser g FreaT Ulhar 7 Hiadr T &1 g g g7
Which gas is used in welding and cutting process?
a. @Il AATFASS I Carbon monoxide gas
b. ffeser 3w Shielding gases
c. Uodreh 3 LPG gas
d. Rfege vg Fea Aariegass @ Shielding and carbon monoxide gas

47.3¢ & ATH HR F4T &7 What is the standard size of brick?

a. 10cmx9cmx9cm b. 25cmx10cmx10cm
c. 19cmx9cmx9cm d. 10cmx20cmx15cm

48. 97 T & AT Hladl Ry st A Hegar g7

Which timber wood is most valuable to make pattern?

a. o3leX Deodar b. &% Teak wood

c. HHIT Sassoon d. #FERET  Mahogany

49. 50 kg goiat ¥ fAFeH $1 & SN g
The bag of cement weighing 50 kg is equal to

a. 0.35Cum b. 0.035 Cum
0.05 Cum d. 0.5 Cum

TB8-A-8



50. 1S IR T e AT a1 FR F aF T T 3ERT Weral Ud FEwIAr uiRa
gic &, forad 39 feman, @n, s @ afsed @Rm siar &, &= s §?

The property of freshly mixed concrete or mortar, which determines the ease and homogeneity
with which it can be mixed, placed, compacted and finished is called

a. 3eldg Segregation b. @ad Bleeding

c. TAEIAT Workability d. g &fEsaT Honey combing
51.M20# M@ 1 37 2 What is the meaning of M in M20 concrete ?

a. fAam=T Mix

b. TASUT Mixture

|2

f&dAT g AL & AT Mixing of cement and sand
d. e, @dr g HHTT &I AT Mixing of sand, cement and aggregates

52.0.3meAH TF dTel Gy & AT 1S 1742-1960 % @R AT gl i HAFaa g fraer gl
EUN
What is the maximum spacing of man hole recommended as-per 1S1742-1960, for sewer up to

0.3m diameter ?
a. 15m b. 30m c. 50m d. 100m

53. arer afda A Fg M= & 3uAher grar £2  Name of fixture used in wash basin

a. T &% Pillar cock : b. T[99 &% Bib cock
c. darex fAFET Water mixer d. §¢¥ WIET Health faucet
54.geT T ATH Ygalf«av Identify the tool name 5"‘\ x--::;m

N \

b. 9189 T w@Ed Pipe wrench plies
c. 39« U35 & Open ended wrench
d. &P TR Hook spanner s

a. GHMES T Adjustable wrench \\r‘
A{m.auuo/ ! e{J
~R R

55. I« Y= 1 39391 fFE T grar €7 A chain wrench is used

a. THY TR ¥ FI GHBA AT T FA & T To hold or turn a smooth circular object
b. THET Y 3w Hr TE] F THsA AT & F F AT To hold or turn to any shape object
c. hdel TSR d BAHR TEGHT & T Only for square and cubical shape object

d. AR TE] A Gl AT IRSHA F & AT To hold or fined the square shape object

56.31c area 1 gt @ar §? Which one is a symbol for gate valve?

— <]~
b. A

% f——j
“ ==

w

TB8-A-9
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61.

FlsT | dTed Tl & WaTE H gEl k% & Ukl & fAU AR T FI FW 33 AT g2l &
fafya wear &7

Which valve controls the water flow by raising or lowering an internal gate, preventing the
water flow to other side?

diel ared Ball valve

T gred Gate valve

Ielld dred Globe valve

U dred Check valve

5T gaeg O1 4 9 & o var Rfos area wafa fee a9 §7

Air release valve is installed to eliminate or mitigate the

STl Ydig <l @d Reduction of water flow

grex gAY 9ishar Water hammer phenomenon

Ster feehre & gfig & T To increase the discharge of water
gled 9T a9 del & [oIT Toincrease the pressure on valve

SP:35$W,qﬁﬁﬁuﬁ€aﬁH%ﬁaﬁHmﬁmaﬂ%‘?

As per SP:35, how many litres of water required per capita per day?
135 lit/capita/day
150 lit/capita/day
210 lit/capita/day
250 lit/capita/day

o & O Sl O R, uia @Ea urer T ARET i 3 MaeTehdr H IHITAd d6r Tl 87

Which one of the following factors does not affect per capita demand water requirement?
Si@e T Standard of living

STHEAT Fr T@IERAT &< Literacy rate of population
gl 1 FHed Cost of water
Sterarg f&ufad Climate condition

AR # & Hid a1 9=l [FaRor 959 39T A F AU GAEn §?

Which one of the following pipes is hazardous to use in water distribution pipeline.
Nedasss I 9ISY Galvanized iron pipe

933 didiET 9gd Threaded PVC pipe

Hrdider g9 CPVC pipe

TEarea-fa#He 9Isd Asbestos —cement pipe

TB8-A-10



62.

65.

a.

Ci

66.

a.
b.
G

d.

67.

a.

b.

mmmwmwmamﬁwmmmw
o Aaaay 87

Which pipe and fitting are most reliable in plumbing water supply due to their chemical resistant
feature and fusion welding?

Hrdrdrer arET CPVC pipe
dI3TR 9189 PPR pipe
SIS 9189 Gl pipe
SIS 9189 DI pipe

.St 3mqfct el #, Rresdt fre w9 & 3w & arg S £7?

Alum is used water supply system as a
Thead Coagulant

TGRS Disinfectant

FHICATAF Pesticide

M9a Absorbent

.mﬁmmﬁmﬁmam%ﬁvmwwﬁmﬁm%ﬁmwmmﬁ?

Which type of system or pattern is used for rectangular layout or planned city?
38 UZ YuTell Dead end system

3T gotelT Radial system
f3r8-3maar wotrelr Grid-Iron system
RET gomel Ring system

ﬁmwmmﬁsﬁﬁﬁmﬂfﬁmaﬁwmﬁw@amﬁmﬁ%mh
Which type of pipe fitting allows the content of two pipes to flow together into one pipe?
ReeT 95 Return bend b. Teal elbow

$IF cross d. el lateral

ey arsy fFad a9 @ €2 What is sewer pipe made of?
fAET Earthen ware

RShared Far Refractory clay

qrTuT Stone ware

EITRIET Terracotta

fAe A6 & Flear ¥ 97 H ABerar H HROT AG ¥?
Which one of the following is not reason for failure of sump pump?
g gAFaT Switching problem

AT Aeld & FAE, S fBawed & geasly Far &
Accumulation of excess debris, interfering with the switching

TB8-A-11



c. U9 AT &F e "o ST & 3R Taasd IS H gEAET AT &l
The pump can move inside the basin and that may interfere with switching mechanism

d. wareeT & v wnfay s & T &1 9F@eT Use of local switch brand for operations

68. 9137 319 FAT £7 Explain what is pipe dope?
a. ST 3T UH 9159 g § S S O el FoArar gl
A pipe dope is a pipe joint that is used to create a water tight seal
b. ¥Ad ST ya1E & fAIT 3uAler # ST Sl qTer 9IS HT gehsT
A pipe piece use for water flow continuously
c. TRfear & forw 3l fopam Ser arelr 9189 T YRR It is type of pipe fixture used for fitting
d. 9= Slig &7 9189 T ThsT Pipe piece without any joints

69. T & T ITAET FAT /T g7 Surge tanks are used

a. %8R && & foIU For storage tank

b. UBUAEA # 9T del & fAT To increase the velocity in a pipeline
c. fauarg ared & & & As overflow valves

d. e g2ls ¥ s=r@ & foIlv To guard against water hammer

70. gUErd diet & dreft 1 Stearafash Hierdisid AT fhdar gl afgu?
Biochemical Oxygen Demand (B.0.D.) of safe drinking water must be

a. fa&= Nil

b. 5 ppm

c. 10 ppm

d. 20 ppm

71. 9 & Ul & fATESHACT SART FAT FEIAT SAAT 872
Disinfection of drinking water, is done to remove

a. pH

b. T Colour

. dF¢RAT Bacteria

. el Turbidity

o 0

72. v e T AT AT FE F @R AT H S Hebell g7
The fire demand of a city may be worked out by

a. Fsdfelar IT Kuichling’s formula

b. fiFHsT ¥ Freemans formula

c. 3HsT TgeX A Under writers formula

d. 39gFd il All above three

73. Ul & A FoAeor F v, Foer fr fraer AT 1 39T AT S g7
For plain chlorination of water, the quantity of chlorine used, is
a. 0.5mg/litre
b. 0.4 mg/litre
TB8-A-12



74.

T o

o o

72.

o W

2]

76.

a0 oo

o o T o

o 0 T W

0.3 mg/litre
0.2 mg/litre

U TAA @ AT Tq &I I WA ER @ 45 m o §1 OF gah & e gad &
arelr fApreet & fow fhd YR &7 99 3uged gem?

The depth of the water table at a place is 45 m below the general ground level. To lift water
from a deep tube well in such a locality, the type of pump to be installed is

39ET 99 Centrifugal pump

W 99 Reciprocating pump

EIREY ?3# gassl 9q Deep well turbine pump

39 H ¥ FIs 76T None of the above

HHATT: FHEC I 959 I ITATHSAT FT & STar g7
Cast iron pipes are generally preferred to, because

Sliger & 1A Easy to join

31f8% &3 more durable

&7 Siae He longer life

39ded @l All of above.

TF YUH gof # ST A Gl F 24 Hel gav B @ W, STel IALVOT vt A 3R
grem?

A 1* class brick immersed in water for 24 hours, the water absorption (by weight) shall not be
more than

20%

10%

5%

25%

. TATSgs T A, ey FEt e sy #

In manufacturing of plywood, veneers are placed at

HHPIUT At right angles
HATATAR Parallel

45° 9T a1 g3 Inclined at 45°
60° 9 E'{!DW §'31T Inclined at 60°

. OISl T dIUT AT ... 0 Feoidr % The PH value of drinking water varies from

86t09
4106
6.5t0 8.5
10to 3
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What precautions a plumber shall take for health and safety purposes?
R F IR Fufd & s g2 93« 30 Fde & & & FHF H

Avoid awkward body action and take break every 30 min.
HY T HI T A W Keep work area clear

HIH & HTglel H Yoh dlAaor H & Avoid dry condition to work environment
Helolel TAT & FHTHPIST H CEAl UF HUST T 3G o FHI|

Never use wear and gloves while handling sewage plant

80.38 A&Ta= & o gl $ir argr T ST & Aeration of water is done to remove

d.

b.

C-

d.

o pH

ga¢ Odour
JFERAT Bacteria
ety turbidity
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